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Questions 1 to 15 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4) and
shade your answer on the Optical Answer Sheet. (30 marks)

(1)
(2)
3)
4

(1)
)
(3)
4

(1)
(2)
3)
(4)

Thirty-four thousand and ninety-two in figures is

In which of the following numbers does the digit 6 stand for 6007

4659

6549

5946

9465

34 920
34 902
34 092

3492

Which of the following are common factors of 16 and 242

1and 6
2and 3
3and 8

4and 8
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What fraction of the shapes in the box are O ?

O v% ¥ Y%
O W X v

m =
@ 2
@ -
@

in which of the following numbers does the digit 4 stand for 4 tenths?

(1) 1545
(2) 2413
(3) 37.84
(4) 4621
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6. In the figure below, which angle is smaller than a right angle?

N «zw
(2) «x
@ zy
4 «z

7. Tristal bought 28 identical ovens and a kettle. Each oven cost 5 times
as much as the kettle. The kettle cost $65. How much did she pay for
all the ovens?

(1) $9165 | o~
(2) $9100 |
(3) $3250
(4 $1820
3
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10.

On Tuesday, a factory produced 6 times as many notebooks as on
Monday. A total of 4242 notebooks were produced on both days. How
many notebooks were produced on Monday?

(D
2)
€
4

66

77

606

707

Lucy can type 45 words in 1 minute. Lucy takes 10 seconds less than
Paul to type the same number of words. How long does Paul take to

type 45 words?
(1) 50s

(2) 70s

(3) 90s

(4 110s

The total mass of a box containing 4 identical books and 2 identical
calculators was 2.94 kg. The total mass of the box containing 4 such
books and 1 such calculator was 2.76 kg. What was the total mass of
the box containing 4 such books?

(1N
(2)
(3)
4

2.48 kg
2.54 kg
2.58 kg

262 kg
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Peter sells three types of fruit juice.

The bar graph shows the number of cups of each type of fruit j Junce sold
by Peter on a particular day. |

Number of cups of fruit juice sold

Mango

Type of Honeydew
fruit

juice

Watermelon

0 2 4 6 8 10
Number of cups

The table shows the price of each cup of fruit juice.

Type of fruit juice Price
Watermelon $1
Honeydew $1
Mango $2

How much did Peter collect in fotal from the sales of fruit juices?

(1) $34
(2) $32
(3) $24
(4) 84
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12.

13.

The perimeter of a rectangular grass patch is 12 m. The breadth of the
grass patch is 2 m. Find its length.

(1)
2
(3)
(4)

8m
6m
5m

4m

Grass patch

2m

. Aminah has 198 coins. She has 3 times as many coins as Bob. Charlie

has 76 more coins than Bob. Charlie then gave Bob some of his coins
such that they both have the same number of coins. How many more
coins does Aminah have than Bob now?

(1)
)
)
(4)

66

o4

104

160
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14.  The table shows the number of customers at a restaurant over

Part of the table was covered by a stain as shown below.

Day Number of customers
1 30
2 45
3
4

4 days,

The number of customers on Day 3 is equal to the total number of

customers on Day 1 and Day 2.

The total number of customers on all 4 days is 230 when rounded to the

nearest ten.

What is the greatest possible number of customers on Day 47

(1)
(2)
3
(4)

75
80
84

89
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15.

The table below shows the prices of items sold at a stall.

Item Price
Calculator $7.80
Stapler $210
Comic Book $6.65
Plastic Folder $0.85
Notebook $5.45

Jiayi had $13. She bought 2 different items and paid more than $10 for
them. Which were the 2 items she bought?

(1)  Plastic Folder and Comic Book

(2) Plastic Folder and Stapler

(3) Notebook and Calculator

(4) Comic Book and Notebook
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Questions 16 to 35 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give

your answers in the units stated. (40 marks)

16.  Find the product of 3608 and 9.

Ans:

17.  In the figure below, square ABCD is made up of 9 unit squares. What
fraction of square ABCD is shaded?

A

Ans:

18.  How many one-fifths are there in 1 whole?

Ans:

More papers available at www.testpapersfree.com




3.
18.  Express gin its simplest form.
Ans:
20, E 84 decimal
. mm%m%awm.
Ans:
21.  Arrange the following numbers in order from the greatest to the smallest.
0.045 , 0.504 , 0.405
Ans: ' ;
(greatest) (smallest)
22 Round 18.55 to the nearest whole number.

Ans:
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23.  Find the value of 6.72 x 7.

Ans:

24.  In the figure below, 'name the smallest angle.

Ans:
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25, The area of a square tile is 49 cm?2. Find its length.

?

A

AV

Ans: cm

26. Using a protractor and a ruler, draw ZABC =120°. Mark and label the
angle. The line AB has been drawn for you.
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27. Raviis at the zoo. He is facing south now. He then turns tb face the

elephant. What angle has he tumed through in the antitclockwise
direction?

N
1
*‘- ————]
rhinoceros %W/{? polar bear
(
tiger
Ans: °
b
5
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28.  Study the square grid below. Inwhich direction is Point E from
Point C?

Ans:

More papers available at www.testpapersfree.com



BP-673

29.  ABCD s a rectangle and PQRC is a square. Find Za + «£b.

A

640 ) 470

Ans: °

30.  Inthe square grid below, EF and FG form two sides of a rectangle EFGH.
Complete the drawing of rectangle EFGH.
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31. Complete the figure on the square grid below so that it is symmetric
about the line of symmetry XY.

,x/
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32.  The line graph shows the number of Primary 1 students enrolled in Percy
Primary School from Year 2016 to Year 2020.

Primary 1 students enrolled in Percy Primary School

300

b
250 \L

200

Number of
students 150

100

50

0
2016 2017 2018 2019 2020

Year

(a) In which two years were the number of Primary 1 students enrolled
the same?

(b) How many more Primary 1 students were enrolled in Year 2019 than
Year 20187

Ans: (a) Year and

(b)

More papers available at www.testpapersfree.com

BP~675




33.

3
Sam had a new book to read. He read 3 of the new book in the morning

3
and 0 of it in the evening. What fraction of the book was left unread?

Ans:

34.

A farmer planted some trees in a straight row. The trees were planted
at an equal distance apart from one another. The distance between the
ond tree and the 5% tree was 2340 m. What was the distance between
the 1%t tree and the 10" tree?

Ans: m

10
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36.  The figure is made up of 5 identical squares. The perimeter of the figure
is 36 cm. Find the area of the figure

Ans: om?

11
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For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]

at the end of each question or part-question.

(30 marks)

36.

Container A had 13.5 £ of tea. Container B had 4 times as much tea as
container A. All the tea in container B was poured into identical bottles.
Each bottle then has 3 £ of tea. How many such bottles were filled with

tea from container B?

Ans: . [3]

37.

Benny had his dinner from 17 15 1o 19 05. After his dinner, he shopped
for 2 h 55 min. How much time did he spend on having his dinner and

shopping altogether?

Ans: [3]

12
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38.  The figure below is made up of a rectangle and a square. The rectangle
measures 27 m by 13 m. Find the area of the unshaded part.

13m

v

27m

Ans: [4]

13
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39.  The line graph shows the cost related to the mass of rice sold in a shop.

Mass of rice sold

1 2 3 4 5
Mass of rice (kg)

(a) Mr Sim bought 1.5 kg of rice. Mr Wee bought 2 kg of rice.
How much more did Mr Wee had to pay than Mr Sim?
(b) Mrs Tan spent $20 onrice. Mrs Goh spent $8 less than Mrs Tan

on rice. Find the difference between the mass of rice bought by
Mrs Tan and Mrs Goh.

Ans: (a) {21
(b) (2]

14
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40.

Michelle and Bridget went shopping with the same amount of money.
After Michelle spent $8.80 and Bridget spent $50, Michelle had 5 times
as much money left as Bridget.

(@) How much money did Michelle have in the end?

(b) How much money did Bridget have at first?

(3]
(b) __ [

Ans: (a)

15
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41. May and Nina have 274 beads altogether. May and Oliver have 618
beads altogether. The number of beads Oliver has is nine times that of
Nina. How many beads does May have?

Ans: [4]

16
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42

5
Rope A is P m shorter than Rope B.
1
Rope C is 5 m longer than Rope A.

2
Rope Cis 3 m long.
(a) What is the length of Rope A?

(b) What is the length of Rope B? Give your answer in the simplest
form.

Ans: (a) (2]
(b [2]

17
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43. At a bakery, the price of a cupcake was $2 and the price of a tart was
$5. Ms Lim paid $38 to buy a total of 13 cupcakes and tarts. How many

more cupcakes than tarts did Ms Lim buy?

Ans: [4]

End of Paper

18
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NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2022

PRIMARY 4

MATHEMATICS
(BOOKLET A}

Total Duration for Booklets A and B: 1 hour 45 minutes

Additional materials: Optical Answer Sheat (OAS)

INSTRUCTIONS TO PUPILS

1. Do not tum over this page until you are told to do so. -
2. Follow all instructions carefuily.

3. Answer all questions.

4. Shade your answers In the Opfical Answer Sheat {OAS) provided.

Name: ( ¥
Cfass: Primary 4 { )]
Quisstions 1 to 15 cany 2 marks each. For each question, four options are 4. What fraction of h i
given. One of them is the correct answer. Make your cholce (1, 2, 3 or 4) and etion of the shapes in the box are O ?
shade your answer on the Optical Answar Shoet. (30 marks)
Oy
O ¥k
1. In which of the following numbers does the digit 6 stand for 6007
2
(1) 4659 (1) 5
(2) 6549 2
@ =
(3) 6946 8
{4 9468 ) @ 2
10
8
4 -
@ 3 )

2. Thirty-fdur thousand and ninety-two In figures is

(1) 34920 ©-8)
5. In which of the following numbers does the digit 4 stand for 4 tenths?
{2) 34902
(3} 34092
4y 3492 (1} 1545
3) 2 2443
{3 3784
3. Which of the following are common factors of 16 and 247
4 4021 )
39
® tlends Fagtues of o
8,
2) zand3 R
(3) B3and8 Faclors of 24
# sand8 12,3,k 008,20 %)
Lommon Lactars
Vo2, 4,8
4 2
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6. in the figure below, which angle is smafler than a right angte? 8.  On Tuesday, a factory produced 6 limes 2s many notebooks as on
Monday. A lotal of 4242 notebooks were procfuced on both days. How
many nolebooks were produced on Monday?

Tuaits > 42472

(1) 66 . A
Lunit > 4242 &1
@ m - 60§
(3} 8608
4y 707
) €2
n Lw
@ x 9. Lucy cen type 45 words in 1 minute. Lucy takes 10 seconds less than
Paut to type the same number of words. How long does Paul take to
@ ey type 45 words?
4 «:z
() ) s0s 60 + 1o
ool ]
{2y 70s i
7 Tristal bought 28 Ideniical ovens and a kettle. Each oven cost 5 fimes (3 90s
as much as the kettle. The kettle cost $65. How much did she pay for
all the ovens? @ 10s
(2)
{ovin> $65 %5 = $325
(1) %9165 2% oven D $a2g % 28 10. The total mass of a box contalning 4 identical books and 2 identical
caloulators was 2.84 kg. The total mass of the box contalning 4 such
2y %9100 =%$9100 . hooks and 1 such calculator was 2.76 kg. What was the total mass of
the box containing 4 such baoks?
3, $3250
@ (2) 4 Boskes + 2 Calaslodors ~> 2-Atkey
(8 1820 M 248k 4 Bocks + | Catouledors => 2-7b ks
| caludedvr 1294 ~2T6
2) 2.64
() Xg - 08
(8) 288k 4 Beoks > 2.6 — 0.1% 3
= [
4 282kg =2 58 )
3 4
11.  Peter selis three types of fruit juice. 42, The perimeter of a rectangular grass patch Is 12 m. The breadth of the

grass patch is 2 m. Find ite length.
The bar graph shows the number of cups of each type of frult Juice sofd

by Peter on a particular day. 2
Number of cups of fruit Juice sotd -m_}.a :", (RS " '
Mango 2m
Type of
3;?':“ Honeydew
julce
WaterTERm (o) S 12 m?
W &m Leoadh 4 Breoddtn = mz 2
= bm
Nurbor of cups @ &m Lm?;ﬂx D b — 2m
(3) 5m = 4w
The table shows the price of each cup of fruit julce. W 4m
Type of frult juice Price (4)
Watermelon $1
1 13.  Aminah has 108 colng. She has 3 imes as many colns as Bob.  Charlle
Honeydew $ has 76 mors coins than Bob. Charlie then gave Bob some of his oolns
Mango $2 such that they both have the same number of coins. How many more
colns does Aminah have than Bob now?
How much did Peter coliect in total from the sales of frui julces? AT Zunits > 198
Wodermelon > $1 210 = $10 m 8 g :1:}{ Lanid > ‘2:" >
1) 334 -
o Honeydew => $1x 6 = 86 @ % C .
@ $32 Abz2- 2%
W\anjn'> Bax%s = ¥t (3 104
@ $24 Tofai > o +$6 + $1b W 160 LC + 38 1o} (Bob)
4 s =$22 . 198 - oy A4
¢ () (2)
5 [
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14, The lable shows the number of customers al a restaurant over 4 days. 185,

Partof the table was covered by a stain as shown betow.

Day Number of customers
1 30
2 45
3
[ 4
&

The number of customers on Day 3 is equal to the total number of
customers on Day 1 and Day 2.

The total number of customers on alt 4 days is 230 when rounded to the
nearest ten.

Whatis the grealest possible number of customers on Day 47

Day 3> 304 46
T

)y 75

=18
@ o0 515 =450
3 84 230~ (50=8g
) 8 8% & %0

€3)

NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2022

PRIMARY 4

MATHEMATICS
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour 45 minutes

INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully.

3. Answer alt questions.

4. Write your answers [n this booklet.

Name: ( }

Class: Primary 4 ( }

Parent's Signature:
Booklet A /30
BookletB 719
Total 1100

Please sign and refurn the examination paper the next day. Any queries should
be raised at the same time when retuming paper.

The teble below shows the prices of ilems sold at a stall.

item Prige
Calculator $7.30
Stapler $210
Comic Book $6.65
Plastic Folder $0.85
Notebook $545

Jlayi had $13. She bou

them. Which were the 2 itens she bought?

(1) Plastic Folder and Comic Book

BP-~687

ght 2 different items and paid mors than $10 for

{2)  Plastic Folder and Stepler

(3)  Notebook and Caleuiator

$0-86 + $6-65 = $7-50

$0-85 ¢ $2-90 = $2.3_5_
$s5-45 + $7.%¥0= $13.25

{4)  Comic Book and Notebook  $ 6°65 + $5 45 o $7.10
2oby TISUS %20
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Questions 16 to 35 canry 2 marks each. Show your working clearly and wiite
your answers In the spaces provided. For queslions which require unils, give

your answers in ibe units stated. {40 merks)
3 5
16.  Find the producl of 3608 and 9. -
3608
* 9

3608 X9 =32 472

ans 32 4772

17.  Inthe figure below, square ABCD s made up of © unit squares, What
fraction of square ABCD Is shaded?

A

D
4
Ans: 9
18. How many one-fifths are there in 1 whole?
Ans: S
1
5 '
23, Find the valuo of 6.72x 7. 6-12
X T
6-72 %7-47-04 T o0g
Ans: 4:’ -04

24.  in the figure belows, neme the smallest angle.

Zb

Ans:

BP-688

3
19.  Expross s inits simplest form.

29 4 72

3+3 _ 4
q+3 3
9 +3 1
3
Ans:
Ex 84 .
20. press oo as a decimal.
Ans: O-84

23, Armange the folldwing numbers in onder from the greatest to the smaliest.

0.045 , 0.504 , 0.405

ans:_0- 504 LS D405 ) 0-045
{greatosl) (smallest)

22. Round 18.55 to the nearest whale number.

25. The area of a square tile is 49 em?. Find iis length.

%
7
7
7
v

Ans: 7 cm

26. Using a probractor and & suler, draw ZABGC = 120°. Mark and label the
angle. The line AB has been drawn for you,
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27.  Raviis at the 200. He is facin
elephant. What angle has h

=P
m crocodite

elephant

tiger

Ans:

& |

seal

B
N N
i E.
glraffe
- oot C
724 i
[

rhinoceros ’%Wﬂ F polar bear

g south now. He then tums to face the 28. &
e twumed through In the anti-clockwise ooy e
direction?

grid below. In which direction is Polnt E from
Paint C?

A

ans:__Nocth- WL’—S‘}'

225

28.  ABCDIs arectangle and PQRG Is a square, Find Za + £b.

31.  Complete the figure on the square grid below so that it is symmetric

about the line of symmetry XY.
A B
fid %
rd
/s
/
a » rd
b e
64° 47° z
D R 7
. c y

£a> 90" - (4°

- >

=20

\‘%ﬁ——*

= 43°

\-——“—
26 143" - (Q° s

67 . X

30.  Inthesquaregrid below, EF and FG form two sides of a rectangle EFGH.

Cornplete the drawing of rectangie EFGH,
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. N 3
32, The Iine graph shows the number of Primary 1 students enrolled in Percy a3 5 . 5 e 3 1ho newbook i the mormin
Primary School from Year 2016 to Year 2020. . Samhad anew baok to read. Heread g moming

3
—ofitinth ing. What fraction of the book was left unread?
Primary 1 students enrolied in Percy Primary School and 70 O tin the evening Cl

2 2
300 = t 7
6
250 = 50 t e
200 : - %
Number of
students 150 q )
100 =+ =70
50
o
2016 2017 2018 2018 2020 e o
Year - -
. | 34, Afarmer planted some trees In a straight row. The trees were planted
(@) Inwhich two years were tho number of Pamary 1 students enrolisd at an equal distance apart from ane another. The distance between the
the same? . 2m yree and the 5% tree was 2340 m. What was the distance betwveen
the 1% tree and the 10™ free? !
- 2340
b) How many more Primary 1 students were enrolled in Year 2019 than >
¢ Year 20187 2 Al %0 B™M Avel D 2 3“{5 X H
. 3 oops ~2 2340m Clgrou‘p) 7021
Ul
ik dree Ao 100 dree S 9 Ja.,s
q qa05 ~> 3 aroues of 3 quS
¥
2340 X 3 = 7020 (#m)
Ans: (a) Yewr 20V6 any 2020 ans: 1020 m
v _25
9 0
35.  The figure is made up of 5 Identical squares. The perimeter of the figure For questions 36 to 43, show your working tlearly and write your answers in
is 36 cm. Find the area of the figure. the spaces provided. The number of marks available is shown in brach
at the end of each question or pari-guestion, (30 marks)

container A. All the tea in conlainer B was poured into identical bottles.

l j:l 36. Cantainer A had 13.5 L of tea. Container B had 4 times as much tea as

L_ Each bottle then has 3 L of lea. How many such bottles were filed with

tea from container B? 'lz?> .5

36 212 =3 LS
13-5 X4 = 54 5%
3x3 = 1 — G4 = 3 = 18glhw) r—l——' '

qAX5 =45 (M) : 3_53}

" 4

24

Ans: 45 cm?

18

Ans: 3

37.  Benny had his dinner from 17 15 to 19 05. After his dinner, he shopped
for 2 h 55 min. How much time did he spend on having his dinner and

shopping altogelher?
| i h | 50 min [
A f
1115 : 1% 1S {9 05

Ih 5Omin + 2h 55min
31’\ 105 aan
Al A5 .0 LBw)

3}

1]

Ans: Ah A4S min gy

11 ) 12
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k. The figure below is made up of a rectangle and a square. The rectangle 39.  The line graph shows the cost related to the m ass of tice sold in a shop.,
measures 27 m by 13 m. Find the area of the unshaded part.

Mass of rico sold

20
16

9m om Cost () 12 2
s .~
4

0
am 1 2 3 4 5

Mass of rice {kg)

Peera o@ Rn,o‘}'&mﬁk < 27 A1 3

- 35) (a} Mr Sim bought 1.5 kg of rice. Mr Wee bought 2 kg of rice.
How much more did Mr Wae had to pay than Mr Sim?

Lé.\:j«}'in of Semare 2 27-9-9 {b) brs Tan spent $20 on dce. Mrs Goh spent S6 less than Mrs Tan
- q on fice. Find the difference betwaen the mass of sice bought by
- Mrs Tan and Mrs Goh,
@ — X
A/&G\ OF 31,\4 Ve, q%lq (q)$8“'$6 :$2 CBV\S)
by $20 oF (ica > g
heea of unchaded part =2 35131 oy P
20 ~$5% = di2
=270
C o) $12 of rice > Bhq
Sky~ 3kq = 2k ( Ang
a , 2
pos 21O m g o @ ——— @
b 2k
3 "

40.  Michelle and Bridget went shopping with the same amount of money. 41. May and Nina have 274 beads allogsther. May and Oliver have 518
Afler Michelle spant $8.80 and Bridget spent $60, Michelle had 5 times beads allogether. The number of beads Ollver has Is nine times that of
as much money left as Bridgat. Nina. How many beads does May have?

{3) How much maney did Michelle frave in the end? , 214 )
() How much monsy did Bridget have at first? | May [Nina[
) May | Gliver 1]
Frbdle T T ETS A N N
VL . 618 !
Bridget I $350 J
g 618~ 2142 344
Auwits = $50-$%2-%0 Sunts = 344
= $4l-20 lunit = .344- = ¢
lunty = B4al-20 T 4.
= $10-3p = 43
(@) Sunids = $Ai.20 + $10-30 May > 274-43
= $51-50 (As) =231 (fns)
(b} £i0-304+ $50
= $60-30 (4
ms @ $SI-50 g . ans: 23] .
m £60.30
15 %
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42,

5

Rope Als PR shorter than Rope B.
1

Rope Cis 5™ longer than Rope A.

2
Rope C is-s- m long.
{a) Whatlis the length of Rope A?

[{ What is the fength of Rope B? Give your answel in the simplest
- form.

A,
Ans: {a) Mkﬂm
l..L
) t2Mm B
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43. At a bakery, the price of a cupcake was $2 and the price of a |a?t was
$5. Ms Lim paid $38 10 buy a total of 13 cupcakes and tarts. How many

more cupcakes than tarls did Ms Lim buy?
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7 I -3 t%x$s =%3o
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13X 45 365
$65-$38 = %27
$5 —~%2 =$3
327 ~% _353 =9 CCu?wkes)
12—~ G = 4 ( "\‘ar'}-s)
-4 = 5 (hw)
Ans: S 9
End of Paper
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